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1. Suppose that you buy a share of stock, then sell it 30 duys later. If the probability of making 
a, profit of $250, $150, $0. - $150 are 0.22, 0.3G, 0.28 and 0.14, respectively. What is the 
expected gain? What is the variance? Let X be the profit random variable. 
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2. In u_gambling game, a woman is paid $3 if she draws a jack or a queen and $5 if she draws 
a king or an ace from an ordinary deck of 52 playing cards. If she draws any other card, she 
loses. How much should she pay to play if the game is fair? 
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3. A continuous random variable X hru; the density function 
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Find the mean of g(X) = e-2X. 
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4. Find the variance of g(X) = 2X + 1 for the X given in problem 1. 
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5. Find conditional probability P(X = 2IY = 3) from the given joint PivIF 
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